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QUESTION 1

What is the default isolation level on a mode ANSI database? 

A. Dirty Read 

B. Cursor Stability 

C. Committed Read 

D. Repeatable Read 

Correct Answer: D 

 

QUESTION 2

Which table type is always nonlogging? 

A. RAW 

B. TEMP 

C. STATIC 

D. STANDARD 

Correct Answer: A 

 

QUESTION 3

Which two statements cause Stored Procedure Language (SPL) routine optimization? (Choose two.) 

A. CALL PROCEDURE 

B. CREATE PROCEDURE 

C. OPTIMIZE PROCEDURE 

D. EXECUTE PROCEDURE 

E. UPDATE STATISTICS FOR PROCEDURE 

Correct Answer: BE 

 

QUESTION 4

Click the Exhibit button. 
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In the exhibit, which statement is true regarding the update statement of Client 2 if both of the clients are connected to
the same logged database? 

A. Client 2 will update col2 of the rows having col1=20. 

B. Client 2 will return successfully without updating any rows. 

C. Client 2 will keep waiting for client 1 to finish its transaction. 

D. Client 2 will get an error that the "record is locked" or the "table is locked". 

Correct Answer: D 

 

QUESTION 5

Which document provides details on preparing an operating system to run Informix? 

A. Machine Notes 

B. System User\\'s Guide 

C. Operating System Guide 

D. Informix Migration Guide 

Correct Answer: A 
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